
Note thad dim P 4 
we hove t set H=1,1-t,2-4t*t 

o-18t+att' 

Since re are 4 vactovs alwe need to ahaw 

S is a LT. Set.(Twn H is a baois fr ). 

C 1+ (1-t)+ < (2-4t t t) 

+C4 (6-18t +qtt) 
= 0 

Ci +C2- 2t +2 C3-4 C3t +C3 t 3 

+6 C4 -18C4t 
+9C4t-c4t = O 

O C+ Ct20g +6 c4)+ (-t-4-18C4) 
t 

+(C+9 C4)ti + (-c4) t° = 0+0.t +0.t 
+0 t 

C+42t6c4 0 
-C-4 C3-18 C4 0 

Ca+q C4 =O 
Solve 

- C4 0 OY, 
C O 

Thuw CC2 C2 : C4 =0, tn tnivial salutm. 
fist 

is a L.I. set 

So, the polynomials fam a ba 
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